Warm Up...

1. Express 1— V3i in polar form.

2. Express —3—47 1 polar form.

3. Express the number 4 in polar form.

4. Express the polar form v8(cos1395° + isin1395°)
as a complex number in rectangular form.
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3. Express the number 4 in polar form.
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4. Express the polar form v8(cos1395° + isin1395°)
as a complex number in rectangular form.




Product and Quotient of Complex
Numbers in Polar Form

Let 2, =7(cos 6, +isin 6,) and z, = r(cos &, + isin 6, )...
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CONCLUSIONS...

Let z; =7(cos g, +isinéd, ) and z, = ?é(COS 0, + isin 6, )

Z, 82, =17, [005(6?1 +6, )+isin(6, +6, )]

- multiply all "r" values together
- add all angles together

&
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- divide "r" values
- subtract angles



Examples:

Evaluate:

—
0s 57°+ isin 57@)@03 213°+isin 213°)
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Evaluate: 24 2fcos135 +{sm1:»5 )
6(£0s 300° + 7sin 300°)




Let's revisit an "OLD QUESTION"...
EXERCISE: Express the following in the form "a + bi"...

%{ &3 (4 — 41\/5 X2J§ + 21 Xl + 1')
AnshFrac o (5 — 51')(— \/g + I')

Now - let's switch into polar form to solve the problem!!!



Attachments

Q Worksheet - General to Standard (a not 1).doc



Functions and Relations 112


Completing the Square


Express the following functions in standard form and state the vertex of each parabola.
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SOLUTIONS:







� EMBED Equation.3  ���
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